Ratio to ATLAS

do/dS; [pb/rad]

|
o
R

0.5

13000 GeV pp
L B B I

~t
— -+l

= I I I I A B N L B BN B B = )
— <
=— ST(Ieptons, jets) (ATLAS for leptoquark search) = %
— 3
o
E 5
= = A
_ o
= =
— =
= o
= =0
— ==
— -

= " =
K =
— L 10O
™
= =
— = m
I 10O
= — 13
= =
— 4=
_ LS
= m ATLAS 58
L . | c
[ --8-- Herwig 7.2.1 default __| LCJ
= —a— Pythia 8.212 default = 3
= — n
= 50
— JQa
(&)
I A K AN SN S I R I —
— =2
/ ‘ .

— E B\\ pu—

0.5
T T TR APV I T T TR I T T T I T T T l
0 1000 2000 3000 4000
S; [GeV]



	Contents
	Page 1


